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—BAGARRAAH(BIS) MRS L £
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—ZAHAFZEAIALH(BIS) KA B 36,242
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— A& AHS 35,000& 200K 7,000
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—S20 10,000,000 «2J4 2 20,000
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—HA S2F EXE 1,500,000& *5H 2 7,500
—&3&s 1,500,000& =124 18,000
Fo HE BALT 6,000,000 *5H 30,000
Onsdlss ¢td & Ex 85,000
—4dsSE MDA 30,000
-85S HAHIl wAH 10,000,000 *20H A 20,000
—4dsSs AUxF= o8 & A 35,000
OAIJHRI Xb& A4 60,000
OSHMEEE5030 WS AIEE £X 50,000
03 Al 2 THHI 1,557 1,674 A7
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01 AP 22| d| 5,720 6,800 A 1,080
O29 =12 2es2E YU (EA 5)
200,000& x12& 2,400
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1 A& 8l 28I 450,000 372,000 78,000
01 A& HI 446,760 369, 340 77,420
SSA0td H| 446,760
03 Al 201 Y] 3,240 2,660 580
OF=40t& & 450,000, 000& *0.72% 3,240
AotA HU|(ASHXIRE) (2 HEALY) 550,000 372,000 178,000
401 Al HIL 201 550,000 372,000 178,000
01 Al &bl 546,535 369, 340 177,195
OQteE X AtAE A 546,535
03 AlE 201l 3,465 2,660 805
OQtGEXI A otA A 550,000,000& +0.63% 3,465
A0td HU(HWatA) (2 MEAY) 300,000 0 300,000
401 AIEHIL 20| 300,000 0 300,000
01 A& bl 297,840 0 297,840
OUistAdtE A 297,840
03 A& 2 0H b 2,160 0 2,160
OugAstd A 300,000,000& *0.72% 2,160
¥ SHAY (A 22 ) 318,252 318,293 N4
ol 2AHY| 209,785 213,031 N 3,246
[Slals] 209,785 213,031 N 3,246
101 @124 209,785 213,031 N 3,246
01 B2 121,095 124,530 N 3,435
OANZA2R+E HH2(24H) 28,695
— 62 11,6343 x5H «10A| 2tx12& 6,981
— 232 (L)
11,0133 x 1H *10A| 2+ x 122 1,322
732 10,509 *6H *10A| 2+ x 128 7,567
— 82 9,434 3 x5H «10A| 2tx12& 5,661
- 93 8,528 x7H x10A| 2tx 128 7,164
Ozuz22=4 10,0263 x24H x32 A 2t x 122 92,400
02 JIEt®8 2 9,410 9,221 189
OFSAAE (15 0] Ar~23H 0] BH) 4,877
— Ao Rag(HYR)
9,675 *1H «10A| 2tx 12 1,161
— X2 9,675& *1H *32A| 2tx12& 3,716
OFHFAAFE (15 0]0H) 4,533
—ANRARRLY(FUER)
8,992& x1H x10A| 2tx12& 1,080
— X2 8,002& x 1 x32A| 2tx 128 3,453
03 RIAHSEZZRE 79,280 79,280 0
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AN tA 2t
Hu: gmyedAy (aEBe D)
chel: ol 2y (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OCCTVS 2 e 2Rt 79,280
—52Z2RE 110,000& = 12H 18 23,760
— A2 40,0003 x4 347 55,520
JlE 3l 108,467 105,262 3,205
JlE&l 108,467 105,262 3,205
201 LB-2d| 54,367 53,162 1,205
01 At 2t 2l 49,867 48,662 1,205
Odit>=8H SHAA 23,797
O=&tdl SHAH & 26,070
02 =224l 4,500 4,500 0
Ost=2THE 3l al bl 1,000
OXt&ES Xl (10h) 3,500
202 O4dl 48,100 46,220 1,880
01 = LH YI 46,300 44,420 1,880
O= UG (2LH) 29,560
O=Uoitgl(22l) 16,740
02 M0 1,800 1,800 0
OFHMEI(UEXNE &)
150,000& 1H 122 1,800
203 ¥ S =&l 6,000 5,880 120
04 FENSELR=LH| 6,000 5,880 120
ORNMSIYRFLH
(400,000& «122 )+(5,000& 20H 128 ) 6,000
Heas(erdze ) 390,000 390,000 0
HEAHH K= 390,000 390,000 0
=z &3 390,000 390,000 0
702 JI3HEES 390,000 390,000 0
(EPIE=RSE—t= 390,000 390,000 0
OM:t2edIzg dE= 390,000
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